MPM 1D9
Grade 9 Pre-AP Math
Unit 4 Test — Linear Relations — Practice Test
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INSTRUCTIONS — Read each question carefully!! For full marks, show all work where required.

Matching
1. Match each item with the correct statement below. (4 KU)

4 standard form B¢ reciprocals £z y-intercept B x-intercept
_E= point of intersection P slog G parallel lines 2. perpendicular lines

F o

G These lines have the same slope.

H/ These lines meet at 90°. EJ/ This is where two lines meet.
( ;\/(For the line 3x—2y =6, this is —3. B/The numbers 10 and 1/10 are examples.
_AZ( This is the name for an equation of a line D‘)(For a vertical line, the value of x is constant
in the form Ax+By+C=0. and equal to this.
Modified True/False

Indicate whether each statement is true or false.
If false, change the underlined part to make the statement true. (4 KU)

2. F ‘/The slope of the line x =-10 is zero. Change: umdle‘gmed ‘//
3. E‘/Q“he y-intercept of the line x—y =-3 1s =3. Change: 3 J/

4. F y=4x-1 and 4x+ y+1=0 represent the same line. Change: \/ =~ Lf’)t" J V/
A Y
5. FVifthe dependent variable of a linear relation decreases by 6 for — AY
every increase of 5 in the independent variable, the slope must be —% . Change: 5 e— L\-/ X,
Multiple Choice

Identify the choice that best completes the statement or answers the question. (4 KU)
6. d /For the line 2x -5y +10 =0, which statement is true?
(a) The x-intercept is —5, and the y-intercept is —2. (b) The x-intercept is 5, and the y-intercept is 2.

(¢) The x-intercept is 5, and the y-intercept is —2. The x-intercept is —5, and the y-intercept is 2.

/ 10}
7. b What are the slope and y-intercept of the given line? 2
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8. What is the slope of the line with an x-intercept of —10 and a y-intercept of —3?

Ay=-3
q\/ SloFe must be he aﬁve.,/q\ir%w
-3
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9. b What is the value of p so that the line passing through (6, 2) and (10, p) has a slope of -2? — G~ - ]

_ _ “ ¢
10 6 10 d 6
Problems

10. Determine the slope-y-intercept equation (i.e. in the form y =mx+5b) of the line passing through the points
(—3,-5)and (4, 9). (5 KU)

@ Sime (4,9) lies onthe line, Hs

Om = %Z,_- co-ordinates must sahisfy tha eguation
bd
Q=t=" C. 9 =) +b v
b4 -(-3) . 9=8 +b
- L N (33)/ f Arwer ”
= A @ . senge |}
Conclusigy, z
Therefore, the I slpe-y-inlercept form, the
= Lakes tha Form e&dﬂ:ﬁ ?9:': the line 1s
y: a'x,.\-b 7=9'x+|

11. The following questions deal with the equation 5x— 6y —30=0, an equation of a line in standard form.

(a) Write the equation in the form y =mx+5 and (b) Use the slope-y-intercept form of the equation

state the slope and y-intercept. (4 APP) that you found in (a) to sketch a graph of the
line. (3 APP)

F'x-(ay -3p=0 , ol
.. 5x- by ~30~5x+3= 0=5x +30~
‘Gy = =5%+30

o =6y _ 5% 430
v ..%" =3 ‘Ll-s)/

s y:%x "5
5/ _5/ o

Som= e and b=




12. Sharon and Chanelle are both electricians. Sharon charges a flat fee of $60 plus $40 per hour. Chamiélle, on
the other hand, [doestirtichargemarfiatfeesshe Simplyicharges $50pemhiour. Let Crepresent the total amount
charged and let # represent the time worked, in hours.

(a) For each electrician, write an equation relating' C to'z. (3 APP) /

Sharon: C =70t +06 Chanelle: C=50t

Com Son )C Shﬂfﬂhs
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(b) Using the grid at the right, sketch the graphs
of both equations from part (a). Be sure to
label the graph and axes appropriately.
Use an appropriate scale on both axes. (6 APP)

(c) State the point of intersection and explain
what it represents in this situation. (2 APP) 3

Point of Intersection: ( & , 30) L/ c,_,{

Meaning: “For & hours UP V"Vk/ (%)
Z’,'Oﬂo exjec:#rfc,lnam CJ/UIEK", S

(d) How would you decide which electrician to
hire? Explain. (3 APP) 100
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13. A line is perpendicular to the line y = —%x +9 and also passes through the point of intersection of

x+y=10 and 3x—4y+12=0. Determine the equation of the line in standard form. (5 KU, 3 TIPS)

M' 3']‘[5-9\:/;3:: ’f& 3;&: 4);-1-19.=0

Q?apwacu\w to Y= -Z‘X."f‘ol —> m= _,1/ 1?- .

Q@) Fasses ’H’Im’ﬂjﬂ the vrl‘ oF infersection QG ¥
‘x+7 =10 CAIM-I 3?(_
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14. By tutoring classmates, Ranbir earned some money, all of which he deposited into his bank account. Once
summer arrived, he stopped tutoring and began spending his money on go-cart racing. (4 TIPS, 4 COM)

(a) How much money did Ranbir
save altogether? Explain.

Kanbir saved p180.
This can he seen
From the ver‘f-fan/
ig\‘iffwf't', u/l'll‘Cl’l
9ives the amoaunt of
vioney Ranbi has at
time O weeks.

(b) How long will it take Ranbir
to spend all his money?
Explain.

Since the pdint‘ (‘fjﬂ)

hes on  the auph, /¢
[ Ranbiy s Mm}ftm-l-
balance will be 30

af- o weeks, Tt will
tukte. him 9 weeks T2z
Spfnd al hfs money .

4

Balance ($)

Ranbir’s Bank Account
200

180

" 100

80

60

40

20

T2 3 4 5 6 7 8 § 10
Time (Weeks)

(¢) How much money will he have after 3

weeks? Explain.

Th

Zweeks, v/ T

15. The Iron Sheik and Rob Ford are flying in separate hot-air balloons. The Iron Sheik’s
balloon is 300 m directly above Rob Ford’s balloon and falling at a speed of 20

m per minute. Rob/Ford’sballoonis 7007 abovertherground-and
falling at a speed of 10 m per minute.

Assuming that the balloons are both

they collide before reaching the ground?

If the balloons do collide, at what time does the collision take

place? How high above the ground
collide? (8 TIPS)

1000
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Po)rf{"/(_?, IS-O) lies on
ﬂr\'ll.‘jrﬁfh. mre%re/ Ranbir
Wil have $20 leFt aSler

moving vertically, will

are the balloons when they

Sheik) BobTard.

situation.
_ p-180 _
M= -0

This mears Bt he spend

Rob Ford! When I catch
up with you, I will
humble you with my
famous, unbreakable
finishing move, the
mighty camel clutch!

(d) Calculate the slope and explain what it means in this
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